Comprehension — 37
(PASSAGE)

Read the following passage carefully to answer these questions given below it.
Failure and success are the ways of life. Constant
efforts despite initial setbacks have brought us from the
chrysalis of failures into the bright opportunity of
triumphs. The conquest of Everest is a fitting example.
Success eluded men for nearly twenty-five years. The
leader of an unsuccessful expedition started, "Everest
cannot add to its height, but spirit of man heightens even
under repulse." Subsequent conquest of Everest has
proved the truth of this. Indeed every newborn day is in
itself an opportunity teeming with splendid chances for
those who are alert, wide awake and aspiring.

 

1. According to the writer, the conquest of Everest proves that
   (a) the spirit of man heightens under demanding 
circumstances.
   (b) man cannot attain the unattainable.
   (c) success is always elusive.
   (d) the nature is most potent.

2. In this passage, "chrysalis of failure" means that
   (a) failure involves a closed situation from which one
 cannot escape.
   (b) failure can be compared to the pupa of the gold-
        coloured butterflies.
   (c) failure is a transitional state.
   (d) as an insect emerges in a different shape from
        chrysalis, so a human being changes after every
        failure.

3. The very style of the prose suggests that the writer
    intends the last sentence of the passage to be
    (a) poetic
    (b) inspiring
    (c) vague
    (d) contradictory to the first sentence of the passage.

4. The expression "teeming with" in the passage can be
    replaced by
    (a) multiplying
    (b) abounding
    (c) fruitful
    (d) promising

5. Every new day brings fresh challenges for a person
    (a) who is young.
    (b) whose head is teeming with bright ideas.
    (c) who has come out of the chrysalis of failure
    (d) who is watchful and daring.
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